R CA DB TUONING METER KIT

¥MI-17210
for use with

RCA COMMUNICATIONS RECEIVERS 4R-88D, and CR-91

L gumos

The DB Tuning lleter vwhen assmbled on the front panel of the
Genaral Purpose Communications Recelver AR-88D or CR-91
provides for critical tuning of stations and for accurate
comparative signal strength measuremsnts,

2, Hagggg}i

The Tuning Heter Kit consists of the following parts and these
should be checked against the partes list MI-17210 included

with same,
Symbol| Quanti ty Des=cription RCA Referen
1 1 Meter, DB above 1 Microwolt Dwg.f{-9894
2 ; Gasket n 93
X 1 Meter Plate " K-G 94:—1
4 3 Flat He&d Screw F 6-32 x 2" " K-57466-11%
2 5 Round Head Screw - ] 4-40 x S5/16"% " K-57454-107
&  |Lockwasher # 4 " K-59049-2
g i Hex. Nut # 4-40 n 4%5-10%
1 %eminal Board _ | " EK-897192-1
9 1l e&d, Black, 23" long, tinned ends Pch, 8pec. P8-528-
10 1 Variablse Resi stor RZ21 Dwg.K-2‘-‘-‘:l¢02-
11 1 Hex. Nut 3/8- /gz x-59149-106
12 1 ckwasher 3 » 39049-25
13 1  |Resistor, R20, 100 ohms + 10%, 4 watt| ¥ 2287
14 1 |capscitor, C74, 4700 mmf + 10% n u-86079-531
15) | 3 |Hex, Nut B-32 ® E-574%%-104
Q6) | 3 Lockwasher f 6 . ? K-59049-3
3. _Asscmbly on Recelver
Numbers in ‘brackets refsr to psrts supplied in kit.
a. Front Panel.
i, Take out the four holding screws on the front penel
- and remove recelver chassis with front panel from
cage.
1i. Pull out the plug-in pilot 1ight from.its location
in the braoket on the resr of the front panel.
11i. Pisconnect the brom-black and black-red leads, by

~ mesns of

i'.‘ %

Yo

pilot 1ight bracket,

their spade terminels, from the stud on the
Take out the four sérews and remove the pilot-light

bragket and title plate from ths back of the front

.panal;’

Kaunt the gasket (2) and meter plate (J) on front of



the DB tuning meter (1), using the three 6-%2 flat
hezd scraws (4), nuts (15), and lockwashers:(16)
for this purpose..

vi. Azsemble the meter, with the gasket and meter plute;
‘ on back of front panael, in place of the pilot light
brzcket previously removed,using the four 4-40 screws
(5) and lockwashers (6) for this purpose.’ - . .
'%otg - Removal ‘of_ the covers from the third i1-f trans
ormers (T7, T8)'will: facilitate installation of the
bottom screws. |

vii. Connecti the brown-black lead with spede temminal,
previously disconnected (1ii), to the positive marked
terminal on begk of ‘DB meter.

vi1i. Connect the bluck-red T9ad with spade terminal,
previously disconnected (111), to the negative
terminal on back of LB matar.

iX. Insert the plug-in pilot light; previously reaoved
{11), in the hole in the bsck of the DB metsr.

b. Chassis . ‘
i. Mownt the varieble resistor RZ1 (10), inserting shaft
through hole in back apron of chassls and secure with
nut (11) and lockwasher (12) as shown in figure 1.

ii. Unsolder the brown-black lead from grounded terminal
2 on socket X 13 &nd solder to terminal 1 on RZ1
variable resister (10). Ses figure 2. :

111, Attsch black ground wire (9) in place ac shown in
figure 1, soldering to terminal 2 on varisable resicstor
(10) sand-to. grounded terminal 2 on socket X 1%,

iv. Yount the single luz stend-off termminal board (8) in
place underneath chassis adjscent to socket X 5 as
shown in Pigure 1. Secure with screw (5), lockwasher
{6) =né hexagon nut (7).

v. Unsolder and remove resistor R20.(100. ohms), - In=tell
nev reristor R20 (10) ocomnecting one end 'to' the gtind
off terminal bbard (B) and the.other end tp termifsl 3

. on the first i-f tube socket IS5,

vi, Unsolder the two hrown-black lesds from grounded;&fm-
1na1&2(c8>§z socket X 5 and attach to lug on termin
boar e, - Vi 8 .

vii. Assemble cap';ditbr. €74 (1¢) in plsce, figure I, atteching
one lead to lug opn teminal board (Bf anc the other to

.. Yyounded terminal 1 on socket X 9

viii. Bolder the Féur leads on the lug ofi terminsl board (8)
end the gapacitdr lead on terminal 1, socket X 9.

1X. Resssamtla shagels in case. replacing the four screws

téken out, see paragraph 3.a.111.

=



-3 -

Taning Metor hdjustment

After assmbling'the tuning meter on the r=caiver, s2t up for
receptién znd mak~ the followlng udjustiment.

&,
b,

Ca

S.

Di sconnect entenna leads from teminal strip.

Short-cdrcuit th- mtenn&’-b:lndiﬁgg postrs, wnd meke furs
that no signsl can be heard.

Connueect & 0.10 volt e-¢ rectifier type met:r scross the
loudspseker voice coil {terminals 1 &anu Z ou TBZ) then,
with the receiver's sudio gudn zontrol set for maximua
gain, adjust the r~f gain control to th= position =zt
whicn 0.5 volt of noise 1s indicetiad,

Adjust the variaebie resiscor RZ1 (10). wiih-a screwdriver,
“turning shaft et slot in back of c&se to bring thes tuning

metar pointer to the exireme left of the scale.

Remova short clrculis end external meter then roplace ths
antenna leasis,

wnETER C\Rewv T

/.

. R’
s -, VOO OwnwD
Cw ___1 R
w\po @¥ a
= = =



0
o~

/
) T i

¥ > 297 DB HoLE
3290 ., 006 D X §2°csk

32 PLACES

@ g 2.5 Sroc,(

METER FLATE

[ ATNESS To BE WITH N
CorIr ) ERNCI AL ToLEXR LA CES
JBURRS Ao7 7o E£XQELL v O/O
AND To ME oN HERK SIRE.



GENERAL PURPOSE
COMMUNICATIONS RECEIVER

MODEL CR - 88

INSTRUCTIONS

Manufactured by

RADIO CORPORATION OF AMERICA

ENGINEERING PRODUCTS DEPARTMENT
Camden, New Jersey, U. S. A.




